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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Use of calculator is allowed.

1 (a) Write note on cost of living index number. 10

(b) From the following data find index numbers of 10
L P F D-B and M -FE

Item 1970 1975
Price | Quantity | Price | Quantity
A 5 25 6 30
B 3 8 4 10
C 8 10 3 8
D 10 4 3 5
OR
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(a) What is Index number ? Discuss the different points that 10

comes in the construction of an index number.

(b) Construct the cost of living index number by using weighted 10

geometric mean :

Commodity | py |99 | Py
A 3 (20| 4
B 1.5(40 (1.6
C 1 {10 (1.5
(a) Explain : Method of Moving Average, 10

Method of Least Square.

(b) From the following information, find y:a+bx+cx2. 10
Year: [ 1981|1982 | 1983 | 1984 [ 1985 | 1986 [ 1987 | 1988 | 1989
Profit: | 2 6 7 8 10 11 11 10 9

OR
(a) Explain Time series data and its components. 10
(b) Find seasonal variations : 10

Year Ql Q2 Q3 Q4
1980 (30 | 35 | 36 | 38

1981 (40 | 45 | 60 | 70
1982 |76 | 80 | 90 | 95
1983 |85 [ 80 | 70 | 75
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3 (a) Explain characteristics of a good sampling. 7

(b) Population of 3 units with values 8, 10, 12 write down all 8
possible sample of sizes 2 by with replacement method.
Verify that :

(1) Mean of sample mean and population mean are equal

2

(2) Find V(y):N nesT

OR
3 (a) Explain : Sampling and Non-sampling errors. 7
(b) 10 observations of a population are divided in two strata. 8

First strata having observations 15, 17, 9, 7 and second strata
having observations 22, 26, 40, 32, 56, 64. Two observations are
random selected from first strata and three observations from
second strata. Find the variance of mean of stratified random

sampling.

4 (a) Explain the association of attributes. Explain the Yule's method. 7

(b) 800 candidates of both sex appeared at an examination. 8
The boys out-numbered the girls by 15% of the total. The
number of candidates who passed exceed the number failed by
480. Equal number of boys and girls failed in the examination.

Prepare 2x2 table and find the Yule's coeflicient of association.

OR
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4 (a) Explain : Uses of Linear programming. 7

(b) Solve the LPP by using graphical method. 8
If x+y<4, 3x+8y<24, x,y>0 then obtain the values of

x and y, Maximize Z =5x+7y.
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